- SIR=RUI0IEIE Y] -
) =i
2ol Y BBOE A

% 7h91E0] ol HTs
S 94T BL= 2ol JXIX o4

=2 &7} o2
BB(Break Book) J1ZIX&
R0 20|= =0| 35S Sall 2AVX[Z ZHEE 7|90,
A0 251 At =01= F9H0|0 EFEE AIDE fE5HH,

Ofo] ZfXje] AEE|REE S| &S AFolFe =g Z= 18

AN BE  ANZ QY 22E 2ol
5~7 Ml 8 16:00 ~ 16:50 110,000 .
AL [IHEHH _:'__Qj'zbl-}-l'
T (=] Al
THI~XS28H4 | 10 17:00 ~ 17:50 et iy | 1

/;:’ MEITA|L2| 20t 2|1y - a vt}




=

joll

10

<J

Ol
el
1))
B

M-
1|

10

0l

= =
+<

[
|

Ok

—l
1ll-

—
—~

-t

joll
HI<

ol

1

0l

0

11

=

10
)l
01l

I[N

iol

I

0l

K0
15

nO <l

i —

OH

120,000

AL
.

e

~nd

ol
<k

15:00~ 15:50

o

)

<0

nO

<k

ot

.
B

Al

1

A YETEN



[
L]
gl
2
M
2
X
H
Kl
iz
rlo
ra
2
0@

A5 ZHEE0|E BHs Fg
H2|m gEE=S AN TS Ke
Y AN M EHon, HES
FE BEI2E A8 944 TR
OHS0f ZA| 0121017} HEf2ts

b4
A Zt \ﬁ%\ 272t@

e A
- =]
6A|~7 M| 16:00 ~ 16:50 10 G[giigl?]:l

27 JEFEMNLRZTY QRUF LA TR



#MEo]
©Carolg

Al
—

~

e S AL SEISEH

10 0'|.I.-l'.

_:T:_
ot [mal sz2 [2oa
MErA 0202t 10:00 ~ 10:50 66.000& =9t
Mol | = 15 | rzxwwn ZES
8H21072 U O00R 14
P 11:00 ~ 11:50




°Afol

#ME

KF &I
w <
1 &
i ul
== m ....—
KO0 &0
: <
K MJ
m.m | nO mﬂ mw M___
Ok W
10O =.w_ oInWQ
W | =
R I
o [ -
ol H | ofl
@r__m n: ] ©
ol Kk oF
o mm =
y N T
o] ol N 5
N ml M % m
~0 0. 31 : .
el + = 3
o 0 5 &
% 2 s ©
sm | 2
A e W WE s
zn [ 0 3 :
i H_A_ < 3 g
< S 1>
mm 010 =
50 l
TF Lo T
Il o
| O
HI ol
K|

Ot



ol K3 2N
; ol g5 d
; A H=i nO
IK 3 = a
H.u ot ol =
5 o = =
? 58 = W Ss%5r=
= < = N QS
5 B B0 <t QEogae
| R Z0 ol T
| = =0 wr 5
g all|
mm E ne
- i DR o -2
“_M_ro —-_n-:— .I_.—u.. )
i <l _
1| = 5 m_n___ »
0% u n.l...
<+ - -
O o ) 3
o g B = I
i = 31 o
0o = _ DK = :
= AN B, wo K S
5 det —] ML) =i os Db ~— L
ST — H=E =F a1 -
R s oJ il =5 <} = <
= = 1 Ok =r & o re = h
@ 5 ol D= mM o ¥ =
ol oJ m =l s ol =
ol = Sl < S I »
q o = — = = i | I
= Kkl 27 1o
TS = EE-CR O

2 BETEANYRZT QR U F RN



F?‘:’l AHE %HF
_l

A2 HEIENBATY FUTORRE

(Z71H]8:

X OEE, =24, sHE0|
A=t US B2 MAZHIES
A FEME ELict,

=)

LAY HY 2N 2Y 222 Loy
150,000
[XH=H][] _
B23517kX
MOl | 15 10:00 ~ 11:50 2 60,000 "22}""}

Uz




1
0y
=
0

.
10
1
19
=
I
10
e
1>
0
Hl
0y
1S
1

13
:00
~ 14
30
Al
90,
0
[_'IHH(IJSEJ
]
I
|H=d14

0%
ro
S

7224+
T Ak
30
o el
I_EL-'I"%—'_
=opt



.ﬁf—"‘iz:?{ 1423 aikf2q 1'.,1-_5 Ak Tl Mzm;.a

ALINSAHOE

JIZ0 N1= =2 &H 22101, EHE S L&t Iz S AHS0t0
OHOISQ AIZHH AteE o0 HEAI|= RrSd NIs8E T2 1

D20UY  AUUY  4Y A Ml a%E 2o

10

15:00 ~ 15:50 2
16:00 ~ 16:50
A
17:00 ~ 17:50 .
5H1~7 M| 10 90,0008 ;ﬁ%
0N - 10- THEH] S
_10.00 10:50 - soom | DAl
11:00 ~ 11:50
27 HEIEALR R0 Q2120 0. DY




7|CIM| OtE= kid, different, see2| 2fAtZ OF0|S2| M2 CHE Y21 S0| 20, efstn, EdHL,

Ciot WEf2 2HE0ILE Ol=XYSS OlofLiota ASLIC
Ate], 22t otet, o=, X S Ci2] 20FS OtREE CHYet I|1/E MAIE Sl M-S HIEtEE k
YolHQ A2 SEH MnsHE Ze{Lots Tl 88y OlsYLIch |

AALHA 291 AIZt QY  mY  azz | zou
8 ~ 10k 15:00 ~ 15:50
) 40,000 D512 %}
6~ 7K 16:00 ~16:50 = 8 241 =
[=] =
4~ 5H 17:00 ~ 17:50 N

< ZBE MELHE >

1. Y9N 0|=1K0| Ofl Of0|7} AAE BIEQ] LIZH= IPY 49| o= ZENE

2. At2| 23} 1tet of| =, ZH| S 02| 20FE OfREE &2 88 O|s+Y

3. 0{ZI0|S0| ¢lH| 2ot 57|18 A= Y= A2 2L S0|FD CHHER AIDE RS
HEX=E AL

4, 32|7|, PHS7|% OfL[2} AFRE, HEHA JAXR] 5 CHkol HEo| THE S

ﬁ%%?iklﬁalig—g 2|2 v 3. g Bvla}



o
'3
>
N
o)
I
.
mle
M
ox
gk A

X%l Zxjof| 2= o|of7|3iAlo] o|9}

o 1=

AEglzel Chors 8 XI9) %o = 2AElof Ylom,
StaL U QTHA] /g%st= == 13l

P

15~2471¥
25~3671¥

37~5571¥

15:10 ~ 15:50
140,000

2 16:00~16:40 15
[*2H]: 40,0009]

17:00 ~ 17:40

EEL

RS




k3ot ¢loi 2 vln| ufQm) AERX] £XtO2 MXFALS xf2oto] AXidlQof 200 Xy
ofo|S 2| Sik|dtcka} QLS x}25}7| ol Ef°h'4 2okt n1g *P%UHII

=2 & A2t Y R Lz ZOoA
120,000&
24~48HE 16:10~16:50 & 15 THEH
30,0008 Ay
100,000&
S5M~7M 17:00~17:50 & 20 HEHI
30,0008

20 NEIEA TR QRI2 0 D QBo



Afotg

pg
'{ .'_.JII

#FME

/N

L

L=

Timborobot

El
O

At2|2ke

I.

ol

o

AlYRRE

0 [
ol fol mu <N
~0 OH ~NO o~
wi
¥ =&
nH =S
0 SESTm
¥ oEsEl
S T
Ml x
oF
K0 —
oll
o o
B
nd 2
— N
)| =
<k S
(@]
<0 —
= 3
nO —
<F LO

ﬁ AMEllEAlaa|act 2|1y g oot}



#MXof

Z 0| E

gk:,y R-ISLY
ACTO

EHE K% L= 9w
mathtion  THE R0 |E AU Moz

NEEE Sl
OlO|& AA R AlDSH= RSt T2 3

D203 | LA 2 A2t | QY | =N azg oM
) 100,000% | =2

=d|0/™ME | X=1~28t4 1 15:00 ~ 15:50| & | 15 45,0008 PAE)
(32,07 | 1Al

XEASH MINFET O3 Q- XS 28107 T2 IO WIHQH M2H0| 2Hst 54T

S0| Jh=tt M2 HASHOZS S0/ Soff 2512 WU S = QU= ot D=

ENGLISH | BMI~7Ml |16:00 ~ 16:50 | _ 100,000 | =%
ZYO|HE = 15 45,0003 &t
=HIVIS= | A5IH&I~51] | 17:00 ~ 17:50 (35,17 | 1A

El
1

S0 S01rot= et Z2 1-MO= 0101501 SEH == A0l == HE 142, EOlA

= g Pl=ss T2 -



lI-

|

10:00 ~ 10:50
=258 65,000
g2l 11:00 ~ 11:50 =
MoO| 8% ZHEL
oot e 10:00 ~ 10:50 50,6008
"7 11:00 ~ 11:50 '
14:00 ~ 14:50
2 A 15:00 ~ 15:50 65,0008
oizlo] | M- 16:00 ~ 16:50 _—
8% S0
OOt | =5 68H4 15:00 ~ 15:50
3t 2 16:00 ~ 16:50 50,000
17:00 ~ 17:50
10:00 ~ 10:50
ER 11:00 ~ 11:50
M~82 | E 8%  30,000¢ O[O
OOt 13:00 ~13:50
14:00 ~14:50
st o
@ g | 09:00~10:00 ETX=TH
e | TAFEE | A 38 80,000¢
= - A =
- 17:00 ~ 18:00 gl
OOt 5

ST YFIENTRZY QLA R




oif

#ME ol

O OAF
2

"
LW

'
NS

23}
33
12

66,000

AN
T

11:00 ~ 11:50

15

p—

o}




#ﬁiﬁ L

ol

=TYULE FH[of w2t O

O

A0

THE
30,000&

[TH=HI: 20,000

15:00~15:50

31

8

16:00~16:50

iol

o

4]

5~7 M

=
—

17:00~17:50

T HETEN



